Dr. Bryan Carrillo Knowledge Checks Chapter 2.2

1. Take V = (—2,6). Calculate —3V and 1V.
‘sual
-3ve {0, 36y
= {6,-18).
V= (0, 56)
= (" ) 3).
2. Take V = (—2,6). Calculate the length of V, =3V and V.
IVIl=4 2%+ (6
=y 4 + 36

:m or 2410

JI-3VIl=1-3]-uv1)
= 3 .{go or 6Vio

3. Take V' = (-2, 6). Write its polar form. .
Visua )

|IVIl= 40 o 2Vi0 -

N '

V=iwn V
(e G B

Polar Forn 4O F—_; ) r"a> or Zﬁ?( Yie, W‘>

4. Find the equation of the circle of radius 3 centered at (—1, 4).
distance from (Lu) is 3 Yisua

N(w,9dP-(-HD]| = 3 %“
Nex-en,y-1l= 3
W (x+), y=*) h= 3

ﬁx+l)’+ (y-9)'= 3 —H—|—IJ_.|_—I—Q—

(x+ 124 (y=-4)'=

(x+1) 4+ (4=-u)'=4
$inal answey
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5. Find the projection of (—1,4) onto the unit circle.
Visua!

V- (loq) (0,0) = <"'J"’)

IlVll J(-t) (4

P

V=~ V < 14
V + (0,0)= WOTh

- J“% {-1,4Y = <",,:‘:‘:.,,'.,>

2(x — 1)* + 1 as a composite function using pow,. Use a graphing tool to verify

6. Write g(z) = —
your answer.
2
T, (0= X=) g(x)=-2(x-1) +
N ==2 () +)
T, )+ 1 3 JsTesp ol
s -t
= T—|(")
T.,00

7. Write g(x) = 3(52 + 1) as a composite function using pow,. Use a graphing tool to verify your
answer.

To(X):)(+|
S5 (x)=5x = 3(ssm+ Y

=3(T)(55 (X)) =7 3=5,0Pu, 0T 05
T‘ (SS (X‘}

T,(Ss &)
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